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Ifeaes wifa goehiss 2021 § S W ; 6.
NI R
(A) =S (B) g
(C) <Hwh (D) 3MEETS
Global Peace Index 2021 topped by
which country ?
(A) New Zealand (B) Portugal
(C) Denmark (D) Iceland
HH W T TR A gl ofd |
RIS ATSHT <l AR fhaT @ 2 '
(A) Y (B) TR
(C) deTrHT (D) dfHeTg
Which state government implements
Chief Minister Dalit Empowerment
Programme ?
(A) Andhra Pradesh :
(B) Bihar 8.
(C) Telangana
(D) Tamil Nadu
et 1 @ Form 2 1 “ofe ST 1 9 %
A | ST S g 2
(A) M (B)  #ficteht
(C) UM (D) U
Which of the following countries is known | ¢
as the land of “Thunder Dragon™ ?
(A) Bhutan (B) Srilanka
(C) Japan (D) Nepal
frame fope o <t T 2 2
(A) WFARE  (B) FHE PR A
(C) ®MR (D) ¥dl WS
Riyadh is the capital of which country ?
(A) Bangladesh (B) None of these
(C) Myanmar (D) Saudi Arabia
aftremTg faum = 2021 %1 g e 10-
TSI g H St ?
(A) I (B) ®twa.®
(C) ZruH.. (D) UIETE T,
Tamil Nadu Assembly Election 2021
was won by which political party ?
(A) BJP (B) PMK
(C) DMK (D) AIADMK
-2
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T |1 < T 5T HCE| ol HRIhTS foha
TIBTEATR 7

(A) 49 (B) 8oy

(C) 29§ (D) 6a8

What is the tenure of the elected
members of Rajya Sabha?

(A) 4 Years (B) 8 Years

(C) 2 Years (D) 6 Years

Torea & v Uy oo e AT ST B 2
(A) 243/ (B) 307K

(C) 203F/SK (D) 27T
When is the United Nations Day

celebrated across the world ?
(A) October24 (B) November 30
(C) October20 (D) November 27

FAT =TT el R 2 2
(A) TR (B) ferrm
(C) Tomam (D) UHEEH

The International Court of Justice is
located at

(A) The Hague (B) Vienna

(C) Geneva (D) Amsterdam
fowa wirg “@SuE!’ qideemd fm g —
(A) "HEYMH  (B) WENEH
(C) T H (D) sifemm#

The world famous ‘Khajuraho’ sculptures
are located in
(A) Madhya Pradesh
(B) Maharashtra
(C) Gujarat
(D) Odisha
Al i 318 & WRA 1 0 o & & @1
T T8 BT 8 7
(A) T3 (B) T
(C) fafern (D) HEH
Which of the following is the smallest
state (in Area) of India ?
(A) Goa (B) Mizoram
(C) Sikkim (D) Meghalaya
H



11.

12.

13.

e g g sR ok e T 7
(A) IS

(B) FARIGA3TRIHTSH (CFC)

(C) e

(D) s SEHTHTES

Which of the following is not a green
house gas ?

(A) Nitrogen

(B) Chlorofluorocarbon (CFC)
(C) Methane

(D) Carbon dioxide

3T R fepafery few s & 2

(A) Fg | ofiar & fer

(B) Tafsre gurs qanati & fow

(C) TdehTeti= ferfa o farfste T 6 few
(D) @ % & § Ich¥ ez & foru
Arjuna Award is given for

(A) Bravery on battlefield

(B) Exceptional social services

(C) Exceptional service in emergency

(D) Outstanding performance in sports

f¥g AEhIeRT 3cd9 38 9 frg UsT 9
qEg R ?

(A) fomm (B) airfemm

(C) = (D) TSI

The famous Nabakalebara festival
belongs to which of the following states?
(A) Bihar

(B) Odisha

(C) Kerala

(D) Rajasthan

e« Fr=ferRaa e <t exYE ufew e 3|
TR 3MHTRG F¥AT (14-18) o ST AT :

A JU A H 399 3R TR

- fordtwed Yy wtar 2 3R R Teras 9ur o

SHHT HIATE T2l & | HETeHT et o e § 78 Ig
fomn fopeft $saf-gw qen @F-wUe &% @1 M
o7 | TEASH 38 FImIE HEd A | 39k WS 36
e, enfifes e qenm 3= IuAfRET 1
AT BT Tl o7 TS 37k HeTeRuT 3T SEER
HI | W WA S hl TR W@H H &
TN IE & o T8 Sails o1 J1Ulq 3 e %
B TR Al o 0T |iFferd o, =8 o o &
1 e, A A7 A B 3reran fafie uer & |
3G 1Y &l IE Ueh A0 3 Tadadr il
%1 GOWefiel TP 3TGieq o1 | W09 9RA
TR o &Y H W AT SdiEehal 3R gH-

| T 61 A9 33T @ § | BH 9 8l |ehd b

34 9 SN § 37U 16 KA & T gA 39T
feffer 72 <7 dehd & =1 IS el HHT AR H
fean ST 1 &w 3wk foreg, 3TaTSt & 381 Hehd
o 37 EH ST T TaAdTIaeh oh el ot Tehd
O

14. 393 TS H G § T €Y U FART ]

o

(A) TG o Tu§ H FHuehi ol w1
IS T |

(B) WETeHT il 3 el § TP ST
SHET T |

(C) SATSITE! H shifcehrie <ht fereiy yfirept
o |

(D) T[ITH <31 hi g ket off |
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15.  3URH TN o oI@eh hl Je9 7 T 7
(A) YRAE Tawar @um 6 femwan
AT |
(B) STl ¥ BT SaMT |
(C) oTfies ATEATSAT TN TIHIER i
CEEICSIN
(D) 37T TS o QY AT |

16. wferar & Irfram 3
(A) oH T g9 T T
(B) Toreht oft gt =t =7 o
(C) @t gt 1 TR
(D) & i 3rasT

17. %8 AT SU f6 AW w@ddar U™
ST 9T ?
(A) TEH femg 3R yoemH wfifea gu |
(B) 3an @eft Sfer, i, et < < A
T ot o7 |
(C) Ig WETEHT Tiehl % FgeIagr 3R
TSI kT Jleh T |
(D) g WaAdT-fRIT 1 ATGer o7 |
18.  S9h Ty # Y TR’ g o 3
3_
(A) yHHIEE  (B) TATTHIT
(C) YEHEIAF (D) & HH AT

T - fr=forRaa e <t ey ufew qen 34
T SN T (19-23) & ST FHT -
faemar-traa 3@ gfy = faui & w3 |
3G BRI H1 FEY T | TH TS I
SRS 1 T Y TR TR Srifehi 4 Fq.
g T STRIUE” Sl Shed1 shi off | ITeh! 8 HeaT
AT o1 A& oft, Tea Jemef o} oft Riifer -
T B S foramen & &9 § ufed g 2, e 1
w0 @ A GE R | T A T, g b1 IR o
Ffem & | @ 1 U el HAThYeh o SATevgny
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9 G H I FE ¢ 7 A T HA(gdd &
qHE-Hied | HEcehRl 4 38 ®I-Gied &
0T o foru fee &1 STSrEqelt <h1 feramt fepan & 3R
39 Gl -l @ Tt i AT i & o

3T H1ed gieedT = STefl 1 |

arfgerentet 3 off gt ama i et
1 ferer hd g 3 T ol vt fopam 2 |
] ST g1 ¥ T fopan Sie at ae-IRR
1 Teh STfect I § Ut foma <1 gehar @ | f5
YR I o Th Il | QY 37 IH T T/ I=
TTEHS] ATl 8, SehR &1 ST & SHI TehR e -
TR % fafirer sreal o @ afe g weh ree ot
forTe Srar @ 1 &R IHTE ER IR W 9LSdl § |

| 3O B AR, TG S8 I TE AT (66 o @

B I A I8 Tiaeliel 9ga ThHiush JHeeg &
Al §, Sk ol Jog &l Fohal & | Th 37T &
foepa B T A iR 2fved @1, 98 Heswatad
1 ST — 78 feamofia 2 |

Ife forelt I % TS I FCeTht 3T TIH
T AT YA SR I bl qard T U Saaferd
&Y g ToRATSiiet S/ ST dehdl @ A1 AL < faehd
3 % TIF W T T 37 SRt IR !

| T UF 9 T AR ST ST Sehdl ? e -

Fafercaepi = s grf¥reagut I 61 wier T
AT R STaE™ qUiETEAT & I 3T-
TR o &3 H Ahetdl ITH Sl | 3FT-TeI T
1 3¢9 2 b o <rafy e o |k | 9@ a8
eITaeT 8 fob THa-3R &2 fereft o 37 ot 3
TehR TiehR a1 shidl, 5 TR & foret o1 &
30 Tltepr T gran | Ueft b1 Th ¢ | & Th -t
ST TV STATEIIH &, dl TR0 § g

| Sdeh-g0eTu 3T B | 3T Rl od - Fafercden

e, I%d, 3id, Bhe IR TCT 1 TR
ThHAATIEH L &1 § | Ae-80 fafrareral
T gitass & 3ifafes TR & : a@eft 37
TR TE9d & T R |

—4- H



19. 3k gfE 1 TR T BT 2
(A) wfecareme |
(B) Tt
(C) wTfecashR |
(D) Sea-Tafehcas o

20. HHE YR I TG HET T 2 Fifeh

(A) |G IR I 6l Witd ArevaqT g
2|

(B) WM SRR fagrar shi gi® i e
Fid g |

(C) HHY IR g¢ HiguRmEil 3R sraeai
gfaffa g |

(D) 319d Tt I % foehd B4 & IR
Faq MisFa gl A g |

21. TI-Tafhcasl g iR @i T
arfrearqut <At oft
(A) THI-IER HI Gcg | T
(B) e -Taferean o1 waa wefua e
(C) STl IR o T o wey TS
(D) 3W-JIUY R IR 1 M=
EEIE

22, 31<a¢ H WY TR vieg w1 qAtT B
(A) ==Y (B) F&H
©) ¥ (D) Ad

23. HME ! Y H1 A & A T 8 HiTh
(A) THE FfE 1 i g |
(B) oy wHa gl faemar i o= gy & |
(C) wHa-T= & S ufed g B, 7€ gfy
Hafed g g |
(D) T i fE AW |

e (24-28) : Trwifora Wt o €t o fafte
a1 o S Icared (fuferam e o) ewrten w2
TR 37 L 3TN Fmfrfad gt o ST dfom

' Directions (24-28) : The following graph

shows the production of cement in Million
Tonnes during the various years. Study the same
and answer the following questions correctly :

e T IS
(Frfem za o)

Production of Cement

(In Million tonnes)

100

40

24, 3ITEH ¥ fUset a <t g |

3 2 st afg 26 |

The increase in production was
maximum during the year over
its previous year.

(A) 2017-18
(C) 2013-14

25.  9¥H 9 99 SH 3T ScdTeT A

The average production during the first
three years was :
(A) 46 MT
(C) 44MT

(B) 2018-19
(D) 2014-15

(B) 50 MT
(D) 48 MT

26. e S TR IcUTEH T3t g3 39 N
The maximum production of cement was
noted in the year :
(A) 2014-15
(C) 2013-14

(B) 2017-18
(D) 2018-19

GAMMA21



27.

28.

¥ 2011-12 % GRA 3T Jhg wfemra
et au 6t qeT | o

The percentage increase in production
during 2011-12 over its previous year was :
(A) 36%

(B) Y TS T8 / None of these
(©) 31.8%

(D) 37.5%

IeTEH TR TR e 36 a9 el :
The production fell down to
maximum extent in the year :

(A) 2015-16 (B) 2019-20
(C) 2012-13 (D) 2016-17

the

TS (29-33) : Tz T 7T U I X % ST
12013 T 2019 & H&F hUS F93 H <A1 2 |

Y 77U T ox e g9 o IAE |

Directions (29-33) : The following graph
shows the import of a certain commodity X in
Crore Rupees between 2013 and 2019.

The questions are based on the shown figure.
Answer these questions.

29.

4 X R =G

2000
Import of X —
g 1300
S 1200 1200
=
E 900
E700
£
= s h=t = ® 2=
h < w b o 0
= = = 3 3 B
[q\] [q\] [q\] [q\] [q\] [q\]
auft a9t o fou 99 e a9 X & 31T i
gig o1 3iHa IR H) 8

Average of the increase in import of
X year by year for all the years is
(in X crore)

(A) 280

(B) T4 @ %5 &l / None of these

(C) 260

(D) 325

GAMMA21

30.

31.

32.

33.

TerTa fema= oIt deh X ohT 31T, X o 3719d
AT | 3feres o
For how many years, there was more

import of X, than the average import of
X?

(A) 3 (B) 1
© 4 (D) 2
X o 3719 37T ¥ 3Tferes 3T1d 3T X

ST AT § A AT o 9971 bl AT
r

The difference of the numbers of years in
which import of X is less than the
average import and in which import of X
is more than the average import is

(A) 2 (B) 0
© 3 D) 1

T4 2018-19 % GRH X  3TRATA H Fhwrd
3fi @l st 3 X 3 3T ¥ 36 e
qfafi 2 7

The percentage increase in import of X

during 2018-19 over its Average of
Import of X of all years ?

(A) 63.5% (B) 64.38%
(C) 50.9% (D) 70.6%

Y 2014-15 F 2015-16 % CRH X
31 # gl 2 —

Percent increase in import of X from
2014-15 to 2015-16 is

(A) 333% (B) 25.0%

(C) 43.0% (D) 28.8%



1w (34-38) : € 7T qTfetent/ARUR 1 SIS
AT hl T = feu yo i & W e :

Directions (34-38) : Study the table and
answer the given questions.

T anfetept o R =fed A, B, C 991 D 98 &
it fedi maegai A fefr e & -

In the following table four persons A, B, C and
D are selling items on different days of the

week.

A| B | C | D
@mar/ Monday | 40 | 45 | 25 | 20
e’/ Tuesday | 35 | 50 | 48 | 26
YERAR/ Friday 25 | 28 | 15 | 41
R/ Saturday | 30 | 40 | 45 | 40
34, HWHAR I D gHI o= 718 %, AT I C

BT St 718w T fehaT Wferwra oft ¢
Items sold by D on Monday is what
percent of item sold by C on Saturday ?
(A) 49.55% (B) 32.70%
(C) 42.60% (D) 44.44%
35. B, C Ul D gRI HA: THAR, TR a1
IIfER o s=ht 7T a3 1 SNEd R ?
What is the average of the items sold by

B, C and D on Monday, Tuesday and
Saturday respectively ?

(A) 42.50 (B) 45.90
(C) 4433 (D) 46.66

36.

37.

38.

e o gt IR e § D awg i fosht it
o1 | B a%q bl forsht ® fopaet wfersma <
gfg 313 ?

Percent increase for selling of items B
compare with Selling of items D in all
four days of weeks is

(A) 19.5%
(B) 283%
(C) 29.1%
(D) 18.3%

AER Bl 9=l T FEgI H 3N IR
IERAR I S TS I3 i 37Ed & Ted
fepamT SR R ?

What is the difference between the

average of items selling on Monday to
average items selling on Friday ?

(A) 7.40
(B) 6.45
(C) 105
(D) 5.25

HITTIR 1 A R =it T8 %] a1 IHER
I C g o=t 718 S 3BT STUT AT AT 7

What was the ratio of item sold by A on
Tuesday & items sold by C on Saturday ?

(A) 7:9
(B) 8:7
C) 9:7
(D) 6:5

GAMMA21



e (39-43) : €t 7iE afetent /Tmeft w1 eTYES
I L q i feu T i 6 3T e

Directions (39-43) : Study the table and
answer the given questions.

YR ¥ 2010-2017 & T BHAT 1 IATET

Production of Crops in India during

2010-2017
(e ﬁ) / (In tonnes)
T/ | W/ || aow |/ | S| e /| e/
Year | Wheat| / / | Maize| Barley| Pulses| Potatoes
Rice | Bajra
2010-11| 6121 | 874| 565 80 300 415 210
2011-12| 7010 | 964| 655 | 60 | 312 | 417 220
2012-13| 7112 960| 780 55 210 680 222
2013-14| 7056 | 985| 1110| 40 200 310 245
2014-15| 6896 | 716| 1160 90 | 216 | 370 315
2015-16| 6912 | 826| 1450| 110 160 300 400
2016-17| 7617| 812| 1460| 75 216 260 445

39.

40.

GAMMA21

=4 O forl w8 | 2013-2017 & 99

ITE | AR g &t 1 TS 7
(A) i (B) oI
(C) et (D) <

Which of'the following crops showed the
continuous increase in production during
2013-2017?

(A) Barley
(C) Maize

(B) Bajra
(D) Pulses

2010-11 8 2016-17 i 1G4 o 7&T 3]
1 3 IcqTe fohaT R 7

(A) 2938631  (B) 253.8637
(C) 300.002F (D) 353.963%

What is the average yield of potatoes
during the period 2010-11 to 2016-17 ?

(A) 293.86 tonnes (B) 253.86 tonnes
(C) 300.00 tonnes (D) 353.96 tonnes

41.

- 42,

43.

2016-17 < A 378 © ford wH o IcdTe

¥ formet o o qormn o fiere gl 1T 7
(A) S (B) 3T
(C) St (D) dTed

During 2016-17, which of the following
crops showed decrease in production in

comparison to the previous year ?

(A) Bajra (B) Potatoes

(C) Barley (D) Rice

HTE] 1 ITET 2015-16 § 2010-11 I
31gTeH fhaT O § ?

The production of potatoes in 2015-16 is
approximately how many times that in
2010-11?

(A) 2.00
(B) 1.90
(C) 1.82
(D) 2.10

% 3ered 3 Far a3 S e e
U

Wheat production started showing a
slump during :

(A) 2015-16

(B) 2016-17

(C) 2013-14

(D) 2014-15



44.

45.

46.

47.

o -3g -3 foper 3 & 3Tt & wfsa

g3 U1 ?
(A) I (B) 3TH U I Tl
(C) FRR (D) dTfugaT

Siraj-ud-daula was defeated by British in

the battle of :

(A) Plassey (B) None of these

(C) Buxar (D) Wandiwash

T A I gy A T et Tmeie o1 2

(A) WEsARNT (B) s gfee™

(C) wEdeisicdl (D) e fia

Who among the following was the great

protagonist of the ‘Doctrine of Lapse’ ?

(A) Lord Dalhousie

(B) Lord Hastings

(C) Lord Wellesley

(D) Lord Minto

WA 3fgmd 8 el i 9 2

(A) T TTshATICR <hl T <l FRNTT
T AT TG, Ffeheaen

(B) TTH YR

(C) <= o o Uftg AT

(D) &Y % GUF o Ueh UIHg ACHhR

In Indian History who was Dhanvantari ?

(A) A noted physician who adorned the

court of Chandragupta Vikramaditya

None of these

A famous general of Chandragupta

Maurya

A famous dramatist who lived

during the time of Harsha

Traferiaa forg shm o W 31T 2
. THEq

II. R
L 239

In which order did the following come to
India ?
I Thomas Roe

(B)
©)

(D)

II.  Fa-hien

[I. Hiuen-Tsang

(A) ILLII (B) I I 1II
(©) LI 1II (D) ILILI

48.

49.

50.

51.

I3 I fore o WG | 9o o) 7R ?
The Simon Commission first visited
India in the year

(A) 1926 (B) 1928

(C) 1925 (D) 1919

TR T ®ue grn foeg aAfeeye o
vfgTiies “qul s (U Waedr) &

AT TR TR T 2
(A) WTER (B) &S
(C) =g (D) e

In which session, the Indian National
Congress passed the historic “Poorna

Swaraj”  (complete  independence)

resolution ?

(A) Lahore (B) Lucknow

(C) Bombay (D) Karachi

1 =1 e ot

a. SISTA REE A 1. AT geq

b. e uret 2. gUTSES 9

c. T em 3. .. gEE

d. W& e 4. THEE=E

Match the following :

a. Indian 1. Lala Hardayal
National Army

b. Ghadar Party 2. Subhash

Chandra Bose

c. Mitra Mela 3.
d. Home Rule 4.

V.D. Savarkar
Annie Besant

League
a b c d
(A) 1 3 4
B) 4 2 1 3
C© 1 2 3 4
M 3 4 1 2
Afeptefia W o forawor areft “gfesm &
NIcEDE
(A) BRIH (B) T U hIg &l
(C) Tmefiw (D) =&

“Indica” which is an account of Mauryan
India was authored by

(A) Fa-hien (B) None of these
(C) Megasthenes (D) Hiuen-Tsang
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52.

53.

54.

5S.

GAMMA21

$TH © I |1 FhITThR] TS bRl T
o T TS o1 2

(A) SFTefer |iFfa

(B) Tergeam fafecter wHiféasH

(C) T urdt

(D) IS ARd g

Which of the following revolutionary
groups was involved in Kakori
Conspiracy Case ?

(A) Anushilan Samiti

(B) Hindustan Republican Association

(C) Ghadar Party
(D) Abhinav Bharat Group

AT AR a9 foha T e g 7

(A) oM (B) IR

(C) Tl (D) M

The Nagarjunasagar Dam has been built
across the river
(A) Krishna
(C) Godavari

(B) Cauvery
(D) Ganga

HI30E T T IUH g1 IeT8 ford a8 <6l
g ?

The Mt. Everest was first scaled in the
year

(A) 1953 (B)
(C) 1951 (D)

= 4 9 fore veem meft & Raeea
TG © e w1 ferie fopam 2

(A) ™SI b

(B) 3Tqel eI A

(C) WM 37egel THFRR WH

(D) wrErTe 3Tet fm

Who among the following opposed
Mahatma Gandhi’s association with the
Khilafat movement ?

(A) Fazlul Haque

(B) Abul Kalam Azad

(C) Khan Abdul Ghaffar Khan
(D) Mohammed Ali Jinnah

1958
1955

56.

57.

S8.

-10-

reTTE 3o |9 % wilg 379 1 Eid @
(A) R (B) TSHHIGT
(C) Teeli-TUSgU (D) 3HIEM

The source of iron ore for Bhilai Steel
Plant is

(A) Korba (B) Rajnandgaon
(C) Dalli-Rajhara (D) Umaria
few 7 etf 3R 376 TUET 1 B 91 S
H‘s‘TTa“f%?

. ST AR g — SR 3R R
2. SR AT @1 3R

faroeht o - ST
3. ymme, Sifd um

L
4. YA IR o o — Tafern
(A) 233 (B) 1,233
(C) 132 (D) 334

Which of the following passes and
locations is/are wrongly matched ?

1. Zojila and — Jammu and
Burzil Kashmir

2. BaralLapcha  — Uttar Pradesh
La and Shipki
La

3. Thaga La, Niti — Himachal
Pass and Lipu Pradesh
Lekh

4. NathuLaand - Sikkim
Jelep La

(A) 2and3 (B) 1,2and3

(C) land2 (D) 3and4

TLAqL H T veft s1vRmes /g 3em 1

qmR

(A) < IR

(B) HTEYHT THIRTT

(C) HeHIeTe AWIRT

(D) hadTed THT T 3TH

The name of the bird sanctuary/national
park at Bharatpur is

(A) Darrah Sanctuary

(B) Ghatprabha Sanctuary

(C) Bhensroadgarh Sanctuary

(D) Keoladeo Ghana National Parks

H



59.

60.

61.

62.

IR Sl TFRT TR hT IAThet hid dTe!
e 3

(A) Hifq s

(B) 1T TITGIhI TS

(C) SAR.t.31E.

(D) fora waTe™

The agency estimating the National
Income of India is

(A) NITI Aayog

(B) Central Statistical Organization
(C) RBI

(D) Ministry of Finance

[T &5 1 U A TR 2

(A) Wi (B) P

(€) Trh (D) fadrarh
What is another name for the Service
Sector ?

(A) Primary (B) Agriculture
(C) Tertiary (D) Secondary
YT H IaId ShITd o ST o €9 H i
FETSA@IE 7

(A) . rfi| piEa

(B) T Teer

(C) ST Heal

(D) TH.TH. WHHTYE

Who is known as father of White
Revolution in India ?

(A) Dr. Verghese Kurian

(B) Norman Edburg

(C) Balwant Rai Mehta

(D) M.S. Swaminathan

Torereh e o woraed fsfl faw 4 gfg
61 3rferes GuTeHT Bt ?

(A) IR T Hgd

(B) AferdTd X

(€) &N

(D) 8 sl R 7T e

Private investment will be most likely
to be increased as a result of a rise in
(A) The price of shares

(B) Personal taxation

(C) The rate of interest

(D) Expected yield on new capital

—-11 -

63.

64.

65.

R o Hia9g™ H 390 9 F=1 759 g1 o

Tfrfera T8 & 2

(A) T IR e

(B) QUS fsha @feal

(©) form

(D) S

Which one of the following is not

included in the state list in the

Constitution of India ?

(A) Law and Order

(B) Criminal Procedure Code

(C) Police

(D) Prison

FrefeTfiea © | a1 YR dfag™ i ged

IENERIE RS

(A) viiag =md

(B) ToiRaa afeem st afqam 6 gaierar

(C) 3¢ Tefig Tw=

(D) fda=t =1 ferawom

Which one of the following is not a salient

feature of the Constitution of India ?

(A) Committed judiciary

(B) Written Constitution
Supremacy of the Constitution

(C) Quasi federal structure
(D) Distribution of powers

TTA | ST IR 1991 o SR T
HAY ?
(A) 31ea fogr St
(B) H | IS A&
(C) .. g e
(D) . wHIed fig
Who was the Prime Minister during
economic reforms 1991 in India ?
(A) Atal Bihari Vajpayee
(B) None of these
(C) P.V.Narsimha Rao
(D) Dr. Manmohan Singh
GAMMA21
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66.

67.

68.

YA g™ &1 ®F 91 3ese T

THRT I T TG % SESH % for
frefard < 2 2

(A) FTWE40  (B) 3ITTTE 46
(C) 3T=BG38 (D) 3TI<q 44

Which Article of the Indian Constitution
directs the state governments to organize
village panchayats ?
(A) Article 40
(C) Article 38

(B) Article 46
(D) Article 44

P-wlm Jmdt U9 Seeen &1 fomm
forem w@r a2

(A) 39T HEal A

(B) TH 9 IS el

(C) seIad TF Hgdl Hudl

(D) It HHITA

Who had proposed the idea of three tier
Panchayati Raj System ?

(A) Ashok Mehta Committee

(B) None of these

(C) Balwant Rai Mehta Committee
(D) Royal Commission

= o @ o wRd AETieERt B e
=T YEH T & ?

(A) wifeTe Hae

(B) ¥ A IS T

(C) TifeTes TSR

(D) T Hfifa = fgwres fagra

What ensures economic justice to Indian
citizens ?

(A)
(B)
©)
(D)

Fundamental Duties

None of these

Fundamental Rights

Directive Principles of State Policy

GAMMA21
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69.

70.

71.

72.

73.

wfeier 1 S.L g R R ?

(A) 3iEm (B) UfErR

(C) e (D) dree

What is the S.I. Unit of resistance ?
(A) Ohm (B) Ampere

(C) Faraday (D) Volt

e 1 W TG 3 9 Terwehl Iufeurta
o HRUT BIT & 2

(A) THIfEH 37

(B) ThifHeh 317

(C) HTEfesh 3

(D) 3efeTeh I

Sour taste of lemon is due to the
presence of which of the following ?
(A) Aceticacid (B) Formic acid
(C) Citricacid (D) Oxalic acid
SHehaleh THEA 8 Il 8

(A) WYHE (B) <HT (3T%m)
(C) T@UM (D) HFW
Carcinogenic chemicals cause

(A) Diabetes (B) Asthma
(C) Heart diseases (D) Cancer

=T Sl HUL T FAT HAT B 2
(A) it (efrefia)

(B) Tufyre = (Wi sfi)
(C) 3iav=m (TgiefHa)

(D) = (<ffm)

Name the upper layer of the skin :
(A) Epidermis (B)  Special Dermis
(C) Endodermis (D) Dermis
ferteft 1 o wfche o e gIaT 8 2
() fEEdEnm

(B) 3HH 1S dlesl &l el

(C) e =T E =

(D) Teg= &g a1 =T EH W
Current flows in a circuit when
(A) A switch is closed.

(B) There is no voltage.

(C) A switch is opened.
(D) The switch is either opened or closed.

H




74.

75.

76.

77.

37%1&@1%%%?
(A) 400
(B) Trutfa & st gepa

(C) 300
(D) 500

How many 1 ’s are there in 37% ?

(A) 400
(B) cannot be determined
(C) 300
(D) 500
36.1 9
102.4
19 29
A — B) =—
(A B =
29 19
C) = D) —
© 3 ™5,
Th I oh! SHEEAT H 4% i AT g

et & T ST % B Lo, anfw

2
T T i Il 2 | o A # gig 1 wfasra
ERIRCEN:

The population of a town increases 4%
annually but is decreased by migration

annually to the extent of %% . What will

be the increase percent in three years ?
(A) 10 (B) 10.8
(C) 9.8 (D) 10.5

PRI (1+1J =(1+%},?‘ﬁx7ﬂqﬂ%:

169

If (1 +2—j = (1 +%) , then the value

169
of xis :
(A) 3 B) 7
© 1 D) 5

13-

78.

79.

80.

. 81.

82.

83.

13 9ftorm} 1 37Ed 68 7 | U8t |Id I
37d 63 7 3R 31Ra T1d =1 3fi|d 70 2,
@t |rdd < g § —

The average of 13 results is 68. The

average of first seven is 63 and that of the
last seven is 70, the seventh result is :

(A) 65.5 (B) 94
©) 47 (D) 73.5
TSTaed’ Rl TIFAT 3

(A) WEFTE B) fosy
(C) o (D) Tt
‘Thicl H W g’ 9T o foqw i few o
forpen © & T wreg g ¢

(A) Terhiot

(B) hehIehIvl

(C) &b

(D) Fael

GY %1 g FN AT 1 IT AT HETel o
3“&%

(A) THA-Teret T

(B) 3fua ot s

(C) g SHUF M

(D) weraTaqut forr e

[ T BT = HIT |
(A) E=HT
(B) dghR
(C) war=hR
(D) WfEwhR

fr= 1 9 e w1 fadm wse T R 7

(A) Tom (B) Ffuad
(C) tid (D) TN
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Directions : Read the passage carefully and
answer the corresponding questions : (84-86)

I climbed into bed and rolled myself in my
blankets, first extinguishing the light that
burned steadily near the door. I lay still trying
to get to sleep but my fear made that
impossible and soon I sat up in bed peering into
the darkness and occasionally glancing at the
round window in the side of the ship which
seemed like a plate suspended in the darkness.
For an hour I must have sat like this, and then
I was suddenly roused, by a drought of cold air.
I jumped out of bed; not having allowed for the
motion of the ship, I was instantly thrown
violently across the room.

84. The author jumped out of bed because

(A) he saw someone coming towards
him.

(B) he was pushed by someone.

(C) he heard a faint sound.

(D) acold breeze blew past his face.

85. Which one of the following did the
author do first ?

(A) Climbing into bed.

(B) None of these

(C) Closing the door.

(D) Rolling himself into blankets.

86. The author sat peering into the darkness
because

(A) he wished to see the window.

(B) he was afraid.

(C) he had put out the light.

(D) the window had looked like a plate
87. Give Antonym for the following word :
Keen
(A) Alert (B) Eager
(C) Dull (D) Humble
88. Give Synonym for the following word :
Pride
(A) Hate (B) Cowardice
(C©) Humour (D) Dignity
GAMMA21
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89.

90.

91.

92.

39 TG 1 =T hITSTT ST FHG o STeh] Teq]
T ot & T |

(A) @R (B) wEd

(C) T (waferft) (D) M

Choose the word which is least like the
other words in the group :

(A) Knight (B) Priest
(C) Nun (D) Monk
fepeht fifead e w1 § COMPUTRONE

%! fof@r S 8 PMOCTUENOR | g&ft
%e W1 § ADVANTAGES %1 %1 feran

SITE 7

In a certain code language,
COMPUTRONE is  written as
PMOCTUENOR. How is

ADVANTAGES written in that code ?
(A) AVDATNSEGA
(B) NAVDASEGAT
(C) SEGATNAVAD
(D) AVDATASEGN

Teh HATGH! - Ueh Aleel & T, “Jrel Hi
ufdl 1 98T Tl g3 7 |7 9% Hiea 39

et | fore TR Hafta 8 ?
(A) (B) &
(€) T (D) =

A man said to a lady, “Your mother’s
husband’s sister is my aunt (Bua).” How
is the lady related to the man ?

(A) Grand daughter (B) Sister

(C) Daughter (D) Mother

feu U foehedt # @ wEfd sreg &1 w=A
i

T ; et ;  Hes ;2

(A) IF (B) s&d

(C) W (D) =

Select the related word from the given
alternatives :

Dog : Rabbies : : Mosquito : ?

(A) Death (B) Stings

(C) Plague (D) Malaria



93.

94.

9s.

96.

YR oh 39 TUH T bl T4 =1 & 8 3799

it Fenfer < e < veH fhan g 2
(A) AT (B) HAICh
(C) TR (D) T

Name the state of India which became
the first state to provide health insurance
for all its residents.

(A) Telangana (B) Karnataka
(C) Gujarat (D) Rajasthan

IME.3ME. 1 22 eI, 2021 T form JTaH

1 % U TS ST H T gl o fean g 2
(A) o (B) TTH U HIE TRl
(C) HRTHTE (D) &1

Which payment system has been barred
by RBI from issuing new cards from
22 July, 2021 ?

(A) Visa (B) None of these
(C) Mastercard (D) Rupay

31T % R H TTEhal 9gH & 3gevd |

A § fohdeh gRI HIET8el T “TH&T AT

& feran T 2

(A) & HATTH

(B) ¥ & i3 TE

(C) e Ud UNER HedTol AT

(D) 3TN AT

To raise awareness about Yoga, Mobile

app “Namaste Yoga” launched by

whom in India?

(A) Ministry of Home Affairs

(B) None of these

(C) Ministry of Health and Family
Welfare

(D)

Ministry of Ayush
Ife 18 ®EH, 2005 I IEHAR 8,
18 ®ERY, 2007 1 1A &1 fe g 2
(A) HHER (B) FHam
(C) Temr (D) WIEER
If 18" February, 2005 falls on Friday
then what will be the day on 18"
February, 2007 ?

(A) Monday
(C) Sunday

(B) Wednesday
(D) Tuesday

97.

98.

99.

100.

15—

2021-22 % TR FTR (JAE-THaR) &
fTugrafg @ fI TS A 2

What is the interest rate on Sukanya
Samriddhi Accounts for second quarter
(July-Sept) 0f 2021-22 ?

(A) 6.6% B) 9.6%

(C) 7.6% (D) 8.6%

TRATT TA7 3 BT T 79 Teh BRI I
1 AW Siciige S % AH W
wis |

(A) TR =iver  (B) fa=nmawem
(C) el T S=H(D)  IfUeht TIgeITT

The Indian Army has named one of its
firing ranges in Kashmir after
Bollywood actress

(A) Priyanka Chopra

(B) Vidya Balan

(C) Aishwarya Rai Bachchan

(D) Deepika Padukone

s 2021 % foTw form <1 61 Trare fava
T gy wfwerTedt grEare i gl § gey
SR ?

(A) . (B) MM

(C) &5 (D) ¥WRd

Which country’s passport has topped in
the most powerful passport in the world
for the year 2021 ?
(A) US.

(C) Russia

(B) Japan
(D) India

e dufafie 2021 § fopaen! R
TS o S -aTgeh oh foTC TG foka T/ 2
(A) WEWE 9Tee (B) IS 48
(C) SR ARS! (D) og ST
Who has been named the flag-bearer of

the Indian contingent in the Tokyo
Paralympics 20217

(A) Mariyappan Thangavelu
(B) Ajeet Singh
(C) Kashish Lakra
(D) Devendra Jhajharia
GAMMA21
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